
Discount and Markup

Lesson 6-6



Discount and Markup



We can use the percent proportion or write an equation

to find the discount.

Percent Proportion Equation

𝑥

35
=

25

100

𝑥 = 0.25 • 35

100𝑥 = 875

𝑥 = 8.75

𝑥 = 8.75

$26.25



A 25% discount is the same as paying 75% of the

original price.

The sale price is 75% of $35.

We can use the percent proportion or write an equation

to find the discount.

Percent Proportion Equation

𝑥

35
=

75

100

100𝑥 = 2625

𝑥 = 26.25

𝑥 = 0.75 • 35

𝑥 = 26.25

So, the sale price is $26.25



What is the original price

of the shoes?



What is the original price
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The sale price is 60% of 

the original price.



What is the original price

of the shoes?

The sale price is 60% of 

the original price.

Answer this question:  33 is 60% of what number?



What is the original price 

of the shoes?

The sale price is 60% of 

the original price.

Answer this question:  33 is 60% of what number?

33 = 0.6 • 𝑥

33 = 0.6𝑥

33

0.6
=
0.6𝑥

0.6

55 = 𝑥

So, the original price was $55



Method 1:  Find the markup.  The markup is 20% of $70.

𝑥 = 0.2 • 70

𝑥 = 14

= 70 + 14$84



Method 2:  Find the selling price.  The selling price is 120% of the

cost to the store, which was $70.

𝑥 = 1.2 • 70

𝑥 = 84



10 = 0.5𝑥

20 = 𝑥

Original Price is $20

𝑥 = 1.2 • 75

𝑥 = 90

Selling Price is $90


